[ > restart

LA ECUACION DIFERENCIAL ORDINARIA (SEGUNDO ORDEN) INEAL coeficientes
| constantes Homogénea.

> Ecuacion := diff (y(x), x$2) —5- diff (y(x), X) +6-y(x) =0;
2

o o(d _
Ecuacion := o2 y(X) =5 ( ix y(x)) +6y(x) =0 (D)
> Caracterigtica:=m--2—-5-m+ 6 =0;
Caracteristica:=nf —5m+6=0 2
> raiz:= solve(Caracteristica);
raiz:=3, 2 3
> Solucion, = exp(raizl-x); Solucion, = exp(raizz-x);
Solucion, := e*
Solucion, := & (4)
> with(linalg) :
> WW:= wronskian( [ Solucion,, Solucion, |, x);
e3x e2x
WW:= ®)
3% 2%
> comprobacion, := det(WW) + O;
comprobacion, := - €& # 0 (6)
> SolucionGeneral := y(x) = C1-Solucion, + C2-Solucion,,
SolucionGeneral := y(x) =C1 e+ C2 &* ©)
> S0lGral := dsolve(Ecuacion);
SolGral :=y(x) =_Cle*+ _C2 & (8)
> comprobacion, := simplify(eval (subs(y(x) =rhs(SolucionGeneral ), Ecuacion) ) );
comprobacion, :=0=0 9
> restart :
> Ecuacion :==y"-2y'+2y=0;
oA (4 -
Ecuacion := " y(X) —2 ( X y(x)) +2y(x)=0 (10)
> Solucion := dsolve( Ecuacion);
Solucion:=y(x) = _C1€&sin(x) +_C2 & cogx) (11)
> restart
> SolucionGeneral := y(x) =Cl1- cos sqrt 27-x) + C2-sin(sqr{ 27 -x);

C1cod 3/3 x) +C2sin( 3V/3 x) (12)

> gstema = dlff(SOIUClonGeneral X), diff (SolucionGeneral, x$2) :
> 0L = solve( {sistema}, {C1, C2}

(x) =
)
SOL::{C1=—§\/?[9( ))sm (3/3 x) +cos(3\/_x)\/_[§y(x))}c2 (13)

SolucionGeneral :=



=%\/§COS{3\/§X)(%Y(X)) S [dz ]SIn(BﬁX)}

e
[ > Ecuacionlnicial := simplify(eval (subs(C1 =rhs(SOL,), C2=rhs(SOL,),
SolucionGeneral) ) )
Ecuacioninicial :=y(x) = - 1 d—2 Y(X) (14)
' 27 pé

=> EcuacionFinal := lhs(Ecuacionlnicial) -27 — rhs(Ecuacionlnicial) -27 =0
2
EcuacionFinal := 27y(x) + (;j_xz y(x) =0 (15)



